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1. Answer the following objective type questions
(all compulsory) :. . " 1%6=6

(i) The International Nucleotied Sequence
Database Collaboration (INSDC) is a long-
standing foundational initiative that operates
between |

(a) GenBank, EBI and EMBL

~ (b) GenBank, PIR and PDB
(c) GenBank, EBI and DDBJ
(d) GenBank, PIR and EBI
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(u)

: (1) Ahgnment of quel'y and template 1

Choose the con'ect chronologrcal order of

,protem modehng

sequence

| . (11) Template selectron

'(111) Reﬁmng o

(1v) Model Evaluatlons

NUE Model bulldmg
| .-Optnons '

(i)

(a) i_)'n-_-")‘iii—“)i'v_-yv"
®) ii;;i'—w;-»iv'-;iii'
© :-»n—w—m—nu o

@) u.-n—-)v—mn—-)w

Whlch of the followmg can be used o

Phylogenetnc tree bulldmg ?
(a) GenBank -

. () Clustal-W
© BLAST

(@) Protein Data Bank

(1v) All of the followmgs are 1mportant for pnmer : L

)

desrgmng, except
(a) aner length
®) aner GC-content

(c) Modified nucleotled sequence R

@) Meltmg temperature

S“PPOSe ina large aquarlum there are 35
individuals of Channa punctatus. You have

collected 13 fishes and ‘measured the body

length, summed up the toal lengths and -
divided by 13. What wrll you get aﬁer the )
calculatlon ? :

- (a) Average body length of fish

(b) - Variance of the length of the body

() . Mean of the length of the body
. (d) Standard dewatlon of the length of the '

(vi)

 body
In a positively skewed distribution the
Position of Mean, Median and Mode is
() Mean = Median = Mode

(b) Mean > Median > Mode

() Mean < Metiian > Mode

(@ Mode > Median > Mean.
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"(a)

(c)

d)

| (e)

®

(c)

- '.y(d)i

©

Describe briefly aboy;

2. Answer the. following qmtions, (all “méﬁlsoty) )

Wha b 2"5‘10

| X::;hﬁ(g) 3’ Ou_mean by Protem hom(rlogy
gvor;ziz?lt? l:’pemes of Pemon Con'elation
?gmﬁ:t;iemm sta“dard devmtxom and‘ '

Differentiate between 'On
way Analysis of Variance_ -

A any six of the folloWin'g' qh&'stions |

| -  Sx6=3
Write short note on GenBank | x6—3Q

alngnmcm and its i importance, -

Describe the different
a core nucleotied sequen o K’Oaches of ﬁndmg

How do you derive ¢

sgquenge and lblOlOglcal Ctllons 9

‘Write short nmte on Lngjpﬁot analysns
H3/63/2 (SEM 2) 00 204(0&N) @)

©-Way and Two. |

the seqllencc

Orrelation -betw |
fun een

®

®

What is kurtosxs ? Explam dxﬁ'erent kurtosis -
with sultable 1llusu'at10ns o 1+4=5 |

'.leferentnate between paramamc and non- -
| parametnc tests with: examples :

Write regression equatlons of “xon ‘y’ and

Y’ on *x’. State basic differences’ between

' °0rrelanon and regmsxon analysrs 2+3=§ -

()

Answer any two of the followmg qUestlons :

: (a)

L))

©
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the calculated ‘U, valuc Wlth the cntlcal U

.value fOr the - Slgnlﬁcant reSlllt in case of

~Whi 9. State the restnctlons
tney U tes e 2+3_5

of aPPlymg this test

0x2—20 '

What do you mean by P rotem structure
validation ? How do you yalidate the correct

conform:;tmn tein. suucture ?
ofa protelt = 4+6=10

Describe the Stmctural tion, mission

‘and rescarch activities ofNCBI 3+3+4=10

What iS normaj djstribution curve ? Explain

its PWPW% with sunmble diagrams.
: 2+8=10
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5. Answer any one of the followmg questlons
14xl-l4

(a) What is computer assisted drug desngmng ?

* Describe how ‘do you design a drug using

blomformatlc tools. ? ~ 2+12=14 -

® O What is correlation ? Explain different

types' of correlations with suitable
- examples and 1lluslrat10ns - 2+6=8

‘tendency ? Explain each of these with

smtable examples - 145=6
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(ii) ‘What are the measures of centra]




